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The test has 3 parts: Verbal / English, Quantitative Analysis, & Logical & Analytical Reasoning. 

Specimen for Verbal/ English 

Read the following texts carefully and answer the given questions. 

TEXT 1  

Some researchers distinguish primary emotions, which are thought to be universal, from 

secondary emotions, which include variations and blends that are specific to cultures. The 

primary emotions are usually identified with fear, anger, sadness, joy, surprise and disgust. Other 

psychologist doubt that surprise and disgust are true emotions; they also think that this list omits 

universal emotions, such as love, hope, empathy and pride, that are difficult to measure 

psychologically. 

1. According to the passage, other psychologist thinks that the emotions of surprise and 

disgust are __________. 

A. true emotions 

B. difficult to measure 

C. not true emotions 

D. secondary emotions 

E. primary emotions 

 

2. The word ‘omits’ at the end of line 4 means ___________. 

A. deletes 

B. falsifies 

C. adds 

D. corrects 

E. measures 

Choose the right option needed to complete the sentence correctly. 

1. Donald Trump _____ his presidential campaign as an underdog, but ultimately won the 

election. 

A. begun 

B. began 

C. were began 

D. were beginning 

E. beginning 



 

2. The Victory Day celebrations of May 9 ______ the victory of the allied over Nazi 

Germany in Second World War. 

A. is commemorated 

B. was commemorated 

C. commemorates 

D. commemorating 

E. will commemorate 

Choose the correct model verb from the given options.  

 

1. The young _____ disrespect their elders.  

A. oughtn't  

B. hadn't 

C. haven't  

D. couldn't 

E. needn’t  

 

2. Please do not come late, else you _____ come at all in the class.  

A. needn't  

B. weren't 

C. can't  

D. couldn't 

E. mustn’t  

Fill in the blanks with the correct preposition. 

1. You can climb up the roof of the house ___ the help of this ladder. 

A. by 

B. at 

C. with 

D. to 

E. Since 

 

2. McDonald is a typical example ____ American fast food chains. 

A. off 

B. of 

C. on 

D. in 

E. by 

 



Choose from the five given alternatives the one which best expresses the meaning of the 

italicized idioms/phrases.  

1. To loose face 

A. be humiliated 

B. be disfigured 

C. be scolded 

D. be blamed 

E. be criticized 

 

2. To drive home 

A. to eulogize  

B. to discover one’s abilities 

C. to return to the place of origin 

D. to go home 

E. to emphasize 

Choose the word from the five given choices that is most nearly opposite in meaning to that 

of the italicized word.  

1. Refract 

A. scatter 

B. sprinkle 

C. reflect 

D. spread 

E. spend 

 

2. Composite 

A. compound 

B. duped 

C. singular 

D. calm 

E. healthy 

Choose the one of the five pairs of choices in each of the following questions that aligns 

itself best with the italicized one on the basis of synonymy.  

1. Care: Cure 

A. hook: crook 

B. revel: revitalize 

C. stout: demure 

D. treat: heal 

E. sweet: insidious 

 



2. Agree: Accept 

A. profane: vulgarity 

B. concur: admit 

C. confuse: satisfy 

D. compensate: damage 

E. complacent: inane 

Choose the pair from among the five given choices that best expresses a relationship similar 

to that in the italicized pair in each question. 

1. Slim: Thin 

A. red: green 

B. linen: bed 

C. healthy: fat 

D. adult: mature 

E. brave: timid 

 

2. Pretty: Beautiful 

A. shy: insignificant 

B. width: length 

C. training: heredity 

D. plant: tree 

E. anger: rage 

 

                                      Part-2        Specimen Questions  

Quantitative Analysis    

1. If 50 participants took a test and 25 of them failed, what percent of them passed? 

       A)  99%        B) 75%  C) 50%  D) 49 % (E) 25% 

2. The value of 5(2x-1) + 4 for x=3 

      A) 3       B) 27   C) 28     D) 29  E) 129 

3. The mean or average of 2, 2, 2, 2, 2, 2. 

 A)3   B) 6   C) 12  D) 2  E) 5 

                                              



Part-3 Specimen Questions 

Logical and Analytical Reasoning 

1. In a scenario, If a > b,   b > c    and d > a   then? 

A. b < d 

B. a < c 

C. b > d 

D. c > d 

E. a > c 

Adnan is Junaid's son and Ghania's brother. Marawat is Ghayas's mother and Jabeen’s daughter.  

2.Which of the statements below is definitely true? 

A. Jabeen is Adnan’s mother-in-law  

B. Marawat is Adnan's mother  

C. Jabeen is Junaid's grandmother  

D. Adnan is Jabeen’s brother 

E. Junaid is Adnan’s son  

 

Many People do not have the habit of reading the books they purchase. For example nineteen 

percent of university students in Lahore have text books, but only five percent of them read more 

than once a year. 

 

3. Which argument is logically valid? 

A. Regular book readers are prone to eye diseases. 

B. Readers often overstate about their daily book reading 

C. The sale of the novels is more than that of other type 

D. Many people buy books to pretend themselves as a scholar  

E. Reading speed is increased by frequent reading of books 

 

 


